
S P E C I F I C AT I O N  S H E E T

W: www.serveredge.com P: 1300 335 797 E: info@serveredge.com.au

PRODUCT DESCRIPTION

The Serveredge CBN-4P-45RU Open Frame 4 Post Server Rack is a perfect solution for securely storing your standard rack 
mount equipment in a sturdy, adjustable depth open-frame rack.

With features such as easy-to-read markings for both rack units (RU) and depth and a wide range of mounting depth 
adjustments (560-1020mm), this server rack is designed with ease of use in mind, making it easy to adapt the rack to fit your 
equipment.

It has a static loading capacity of up to 600kg. It is also compliant with industry rack standards (EIA/ECA-310, IEC 60297, DIN 
41494), signifying its compatibility with most rack equipment.

PRODUCT FEATURES
• Adjustable mounting depth from 560-1020

• Supports a static loading capacity of 600kg

• Easy-to-read rack Unit (RU) and depth adjustment markings

• Casters, leveling feet and cable management hooks included

• Pre-drilled holes to secure the rack directly to the floor

• Easy to assemble

• Confirm to Standard DIN 41494, EIA/ECA-310-E, IEC
60297-3-100

• Flat-packed for easy shipping

• 25-year warranty* See T&Cs

GUARANTEE/WARRANTY

Serveredge products are manufactured at the highest standards using highest quality materials at an affordable price. This Serveredge product comes with 25 
Years Warranty for that extra peace of mind. Subject to Serveredge Terms and Conditions*

SERVEREDGE 45RU 4 POST
ADJUSTABLE SERVER RACK WITH CASTORS

PART NUMBER: CBN-4P-45RU



S P E C I F I C AT I O N  S H E E T

W: www.serveredge.com P: 1300 335 797 E: info@serveredge.com.au

PRODUCT SPECIFICATION

Casters Yes

Frame Type Open Frame

Rack Type 4-Post

RU Height 45RU

Weight Capacity 600kg

Colour Black

Enclosure Type Steel

Product Dimensions (H x W x D) 2244mm x 515mm x 560 - 1020mm

Shipping Dimensions (H x W x D) 2300mm x 275mm 160mm 

Maximum Depth 1020mm

Minimum Depth 560mm

Flat Pack Yes

Shipping (Package) Weight 42.5 kg

Product Weight 36.7 kg

PRODUCT INCLUDES

Left Vertical Rail  2

Right Vertical Rail 2

Base Bracket 2

Corner Section 8

Center Section 4

Top Bracket 2

M8 Bolt 48

M8 Washer 48

M8 (13mm) Wrench 1

M6 (10mm) Wrench 1

Phillips Screwdriver 1

M6 Cage Nut 50

PVC Cup Washer 50

M6 Phillips Head Screw 50

Cable Management Hook 24

Hook Mounting Screw 24

Casters 4

Levelling Feet 4

M6 Screw 16

M6 Flat Washer 32

M6 Flange Nut 16

Grounding Wires 2




